
https://www.pass2lead.com/1z0-931-22.html
2024 Latest pass2lead 1Z0-931-22 PDF and VCE dumps Download

 

 

 

1Z0-931-22Q&As

Oracle Autonomous Database Cloud 2022 Professional

Pass Oracle 1Z0-931-22 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass2lead.com/1z0-931-22.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

1Z0-931-22 VCE Dumps | 1Z0-931-22 Exam Questions | 1Z0-931-22 Braindumps                                1 / 5

https://www.pass2lead.com/1z0-931-22.html
https://www.pass2lead.com/1z0-931-22.html
https://www.pass2lead.com/1z0-931-22.html


https://www.pass2lead.com/1z0-931-22.html
2024 Latest pass2lead 1Z0-931-22 PDF and VCE dumps Download

QUESTION 1

What are two differentiators of Oracle Autonomous Database Dedicated Infrastructure? 

A. Users have OS access to the database machine. 

B. Users can customize the maintenance schedule. 

C. It offers greater control and isolation starting at theExadata cloud infrastructure level. 

D. Users have SYS privileges in the database. 

E. Users can customize the OS stack and add additional packages 

Correct Answer: BC 

https://docs.oracle.com/en/cloud/paas/autonomous- database/adbat/index.html#articletitle 

 

QUESTION 2

Which two statements are FALSE about creating a metadata-only clone with a private endpoint network access option? 

A. Current settings for ACLs are cloned. 

B. Clone can be in a different region. 

C. All OML notebooks are cloned. 

D. All underlying data for OML notebooks is cloned. 

E. All resource management rules are cloned. 

Correct Answer: BD 
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https://docs.oracle.com/en/cloud/paas/autonomous- database/adbsa/autonomous-clone-
notes.html#GUIDF943E7FF-8DEB-47F4-84C0- FFA5BAF9D5A9 

 

QUESTION 3

Which two license types does the customer need to benefit from BYOL when leveraging on-premise Enterprise
Database licenses in Oracle Autonomous Database? 

A. Exadata 

B. Active Data Guard 

C. RAC, but only when scaling beyond 16 OCPUs 

D. Transparent Data Encryption 

E. Multitenant 

Correct Answer: CE 

 

Refer to https://www.oracle.com/autonomous-database/autonomous-data- warehouse/pricing/ 

If you run Oracle Database EnterpriseEdition and the required options listed below, then your BYOL 

requirements are as follows: 

For 1-16 OCPUs of a single Oracle Autonomous Data Warehouse instance: 

For each supported Processor license of Oracle Database Enterprise Edition plus Options: 

Multitenant, you may activate up to 2 OCPUs of the BYOL Cloud Service. For every 25 supported Named 

User Plus licenses of Oracle Database Enterprise Edition plus Options: Multitenant, you may activate 1 

OCPU of the BYOL Cloud Service. For 17 OCPUs or more of a single Oracle Autonomous Data 

Warehouse: 

For each supported Processor license of Oracle Database Enterprise Edition plus Options: 

Multitenant and Real Application Clusters, you may activate up to 2 OCPUs of the BYOL Cloud Service. 

For every 25 supportedNamed User Plus licenses of Oracle Database Enterprise Edition plus Options: 

Multitenant and Real Application Clusters, you may activate 1 OCPU of the BYOL Cloud Service. 

https://www.oracle.com/database/technologies/datawarehouse-bigdata/adb-faqs.html "Docustomers need 

Exadata licenses to benefit from BYOL?" 

 

QUESTION 4
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Which statement is NOT correct when setting up compartment quotas? 

A. There are three types of quota policy statements which are set, unset and zero. 

B. Compartment quotas use policies that allow allocation of resources with ahigh level of flexibility. 

C. Along with compartment budgets, compartment quotas create a powerful toolset to manage your spending. 

D. Compartment quotas are set by Oracle. 

Correct Answer: D 

https://docs.oracle.com/enus/iaas/Content/General/Concepts/resourcequotas.htm 

 

QUESTION 5

Which option should you use to create a graph with Graph Studio? 

A. A graph license key 

B. NoSQL configuration 

C. Graph created by a special tool downloaded from oracle.com 

D. Graph analytics algorithms 

E. Tables in an Autonomous Database instance 

Correct Answer: E 

1Z0-931-22 VCE Dumps | 1Z0-931-22 Exam Questions | 1Z0-931-22 Braindumps                                4 / 5

https://www.pass2lead.com/1z0-931-22.html
https://www.pass2lead.com/1z0-931-22.html
https://www.pass2lead.com/1z0-931-22.html


https://www.pass2lead.com/1z0-931-22.html
2024 Latest pass2lead 1Z0-931-22 PDF and VCE dumps Download

1Z0-931-22 VCE Dumps 1Z0-931-22 Exam
Questions

1Z0-931-22 Braindumps

Powered by TCPDF (www.tcpdf.org)

1Z0-931-22 VCE Dumps | 1Z0-931-22 Exam Questions | 1Z0-931-22 Braindumps                                5 / 5

https://www.pass2lead.com/1z0-931-22.html
https://www.pass2lead.com/1z0-931-22.html
https://www.pass2lead.com/1z0-931-22.html
https://www.pass2lead.com/1z0-931-22.html
http://www.tcpdf.org
https://www.pass2lead.com/1z0-931-22.html
https://www.pass2lead.com/1z0-931-22.html
https://www.pass2lead.com/1z0-931-22.html

